Name: Class: Date:

Precalculus G11 Ch7 Test

Indicate the answer choice that best completes the statement or answers the question.

1. Write the equation for the hyperbola with foci { 1,5, {%,~5 Jand conjugate axis of length .
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2. Write the equation for the hyperbola with foci [ 6,~2], (~3,~2 Jand conjugate axis of length 6.
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3. Determine the orientation of the parabola.
directrix; x=-3; p=4

a. opens down b. opens right
C. ORENS 1p d. opens left

4. Use &= 60°to write 3x° + 2y* — 4x— 2y = 44in the x'y"-plane. Then identify the conic.

A 7(x"V+ 10-/3xV 40" +(4 - 8-/ 3)x"+(8-44/3)y"-176 = 0; ellipse

b. 7(x" %+ 103 2% 40y +(4 - 8+/3)x"+(8-44/3)y'-176 = 0; parabola

C. 9(x" P+ 10-/3x Y+ 1100 +(=8 - 4./ 3)x"+(~4 -8 ~/3)y'~176 = 0; parabola
d- 9(x"?+ 104/ 32y + 1107 +(=5 - 443 )x"+(~4 -8/ 3)y'~176 = 0 ellipse
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5. ldentify the equation of the graph shown.
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& (x-5y=16(y+1)" P lx+ 1) =15(y-5)

C. [x—5}2=15(.}"+1j d. [x—5}2=4(}’+1j

6. Write the equation for the hyperbola with foci (%, 2}, (%, 20)and vertices (9, &), (9, 14).
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7. A discus is thrown from a height of 3 feet with an initial velocity of 55 ft/s at an angle of 44° with the horizontal. How
long will it take for the discus to reach the ground?

a. 2.5 seconds b. 18.3 seconds
c. 0.8 second d. 2.6 seconds
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8. Graph the hyperbola given by x* - y* + 8x+ 2y + 14 = 0,

a. AN ) ¥ e b. \ 5 ¥ /
N V4 N i
N P S 7
LN Z < j74h
N Vi % v
i .-r’f \\ e e e T e e T I I %
1% < ZEEERND
AN A
s I
- NS T\

C. . 5 J’ ya d. This graph will not form a hyperbola.
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9. Write the equation of the ellipse 4x* + 9y* = T2x + 108y + 612 = Din standard form.

a. . —62 b. . 62
(x 9)+(y j ix 9)+[y+J

= |

g 4 4 g
. [x—9)2+(y+ﬁj2=36 d. (x-9)° [y+ﬁ)2
3 + ) =1
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10. Sketch the graph of (x+ 3)% + [:y— 5]2 = 25.
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11. Write the equation for the hyperbola with foci [ﬁ,—ﬂj, [—4,—5jand conjugate axis of length 9.

. (y+ 5)2 (x-1)°

& [x—l)z_ (JHS)E _q
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[T [T ]
X
12. Write an equation for the conic in the xy-plane for (1_3 - I:yﬁ) = lat &= 307
A 32 + 4232y - 399" - 360 = 0
b.—39x + 42300+ H* - 360 =10
¢ 3x% 12 fFry—39y% ~ 360 =0
d.—9x? + 4232y - 9 - 180=10
2 2
13. Sketch the graph of (x— 2~ + (y+ 4) = 16,
a ¥ b. ¢
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14. Graph T 1.
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15. Write each pair of parametric equations in rectangular form. Then state the restriction on the domain.

x=2TT5_3

y=4t+8

&y =4x% +24x+24;x>-3  Doy=4x%+ 24x+ 24: x> -5
Coy=ax?+24x—24;x>3  Oy=4x’ 24x+24: x>-3
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16. Sketch the graph of (x+1)* + (y— 2)2 =4,

a * b. ¥
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% [
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17. Determine the orientation of the parabola.
directrix; x=-5; p=2

a. opens down b. opens left

C. Opefs up d. opens right
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18. Graph x* - fix— 8y— 23 =1,
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19. Identify the conic given by

a. circle b. hyperbola
c. ellipse  d. parabola

20. A rock is tossed at an initial velocity of 60 m/s at an angle of 10° with the ground. After 0.9 second, how far has the
rock traveled horizontally and vertically?

a. 9.4 m horizontally and 40.2 m vertically
b. 53.2 m horizontally and 5.4 m vertically
c. 53.2 m horizontally and 3.6 m vertically
d. 8.9 m horizontally and 2.4 m vertically
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